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1.1 OO

gogobob,gjggooogobobobbobobobbbobodooooo.ooog,bbo
gogbobbbbougogb,goooobbobobbodoooooobboobobooaoda,
gobogdbbooobboo,ggbbuoobbuooobo.oobobbooobboo
gboo,ggbbogbogbbogboobbooboobbooboobobooboo
. bbbodggooobbbbbooa,bbuoooobobbo,obbbbodadao
gogbobobobbuodgg,bouggogobobbooooooob.oog,bboggag
g, ggbbogobbooob,gobbuooobbuooobbuooobda. oobboag,o
gbooobobo,gogbooboobbuooboobobooboooboobobooobg,
goboboooob,gbboboooobbbuooaob.
gbogob,ggbobbobodobuodgboobobo,obboboobadgoan
gob.oggbbooobboooo,bbooo.gbbooobbuooobb,boo
goboboobobod. gob,oogbobobbooooobobo,gobbbbobodago
gbbodbboodgbbooob.boobbboboobbooobbooobb,boo
gobboogobbbuoooon.
gbboodgbob,boogdgbboogbboobboogbbuooobbooo. bbb
gbobobobobobobobobo,0ooooboobobobobobobobo
g,buogdbobbogobbuoooboobuoobbooo.ogbbboogooboboo
gogbobbobbodooooobbbob,obbbobboooooobbobbooooad.
gobobo,0bbugoobbboogoobboooooobobo,bboooobbooo
gbbogdbbuoogbbuoobobboob.booobooobb,booobboo
gobbboboogd. obb,oobbbbbbouoooobboobo,bbbbodadao
gobbboogobbbouoogobbboogobobbuooonon.
goboboo,0buooobbbuooogbbobuoooobbobooo,uoooboo
gbogobobbooboob,booboobobbobooboobooboobgn.

goobboboboogg,bbougoooobobobobbbogoooooboobn,



gbogobuodgbboobuoobboob,boobboobbooboobbuooboo
gboobooobooboobbooboobo. boobboobooboobobo
gobbooogbobbuoooobbbooobboboooobbboooobboao
gobbo,bbbuoobobbbodag,uooobbbuooobbbouooobboaon
gogobobobuoo.bbodgoooooboboobboooooooobooboobooboboooaa,
gbboooboogbobobuobbooboobbuoobbogboo,obbooboo
gobbobooodgbbbog,buooobbbboooobbboooobbbooan.
gboogo,bbggbogbbogbuogbbogbbooobuoobbooboobo
gbbuoggbbuogobbooobbooobbuoob.bboo,gbobooobboo
gbobgooboobgoboobobooobo.bobobbo,oboobobobbobo

g, gggbboogobbobog,oboboooobbbooobobboog.



1.2 0OOOO00On

gbogobouo,ggbogbbdobogbbooboob.booboooboabn,
gboobooboobuoobooRrROobDOODOODOODOODOODOOD. DO
goobbbbodooooobobboooooobboobobooinoboboboogao
goboboogoobo.

oooboo,0000o00obobo0oboobobobooboo,RO0b0bOODbODODODO
gobooog.

oo, 000bob00obooooboo,oboobo0boooooooooooDooDn C++0
ooogd. 000, 0000000 ROOOCOOCOOOOOO0ODOODODOOOO,00

gobooo.oggoo,ob,gob,gbbbooogboboobogd.

1.3 O0OOonon

gobboboooooboboobdagd.

g2000obodboo,gbbooboboooboobooobob,booboboooobono,o
gobo,0b0boggobboagf.

g3b000booobgo,040b00 80000000, 000000DbO0DLOODDO
goboboo,gobo,bbo,0boboooobobobooan.

40000000, 0000D00D0O00DOODODOODOD,00bO0O0,0bO00000D
gooooboono.

gsbgbobooboo,pgubbuogbboogobooog,gbbo,ggoooogobn
gooo.

gebboooobobo,bbdggbboboooobbbooooobobooao,bb
gobboooobobobo,boog,ugoobooaooobooo

groboboooo,boboobo,0bobgooboboo,boboboobooooon
gobooobooogo.
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HREENEN



21 Oo0oogood

gbobogogboba,gggbbuogobboobbbooobb.ooobbooobn
ggobobbbbobo,ggobobobbbbbbbbodooao,gooooob,od0o
gboboggbbooobooobbooobbuoobo.bboobbooo,obboo
gogobobbboboobbbouoooooobobbbooobooodg,bbbooagoo
gbboodgbbuogobbooobbood. bbb, ugoobboobbooobbon
gobbboooobobuoooobooog.

gbbooo,ogbboobbooobooob. obbooobooob IEEE OO
754 ( IEEE standard 754 ,00 IEEE 754 00000 . ) 00000000000 0OOO
gobobobbodgg,boudgoogboboobboooooobobob. ooooo,go

IEEE 754 0000 2000000000000000000O000O0.

211 0O0O0O0OOO

IEEE 74 00 4000000000000000. 000000 20000000,0,
0000 20000000, NaN ( Not a Number, 00 )OOO.

20000000000
2000000000000
a:i<;+$+gj+~+$®xzi(@:ODDDU. (2.1)
00000000 ey 00000, e 00000000, €0 epin < € < emay O
0oooooo.
dy ds dy

1
e T BT\ 2.2
M=ot e tat oy (2.2)

0000000 (signed mantissa) D00, e D000 (exponent) OO0, OO e O
20000000.00,000,000 (8 byte=64Dbit), 00000 (10 byte =
80bit) 000D ODO0ODO0OOOO0OO, 0000000000000 00O00000



uo.

N =24, (-126<e<127),
N =53, (—1022 <e < 1023),

N =64, (—16382<e < 16383).

gob 2000000000000 bbboooobbobooooobon

(1+ Ll ] )26
Tmax = | 5 ey Y AN mex,
2 22 23 2N

oo, 00000
72emin.

Tmin = 9

000.000000 (2.3),24) 00000

(2 — 2°%) x 2'9%% = 1.7976931348623157 - - - x 10°%®,

271023 — 9 29507358507201 - - - x 10738,

000. |2| > 2mx 00000000000 (overflow) 0000000 .

00000000000000,0000 53bit000.
2753 = 1.1102230246 - - - x 10716,

g0, ggbbobougoob ogbobb le0bboood.

gooboogn

+<0+0+0+ +O)2emin
2 122 28 2N '

gooog.

gobob 20000000

(2.8)

IEEE 74 0000000000000 ey DOOOODO, 000000000 10

10



oobooooooooo,obooooooooo 1obboobobooboo,0bobo 00O
O000000000000000000. 00000000 (denormalized number)
O00.0000000000000000, 000000000 (gradual underflow)

O00.0000000000000000000000000
27107 — 4.94065645841246544 - - - x 1073, (2.9)

000.0000000000,0000000 (underflow) DO0O0O0ODOO.

NaN
O0000O,IEEE74 000000000000 DOOOO0O00O0ODO.

(a) NaN(Not a Number) O v/—=5, —, 400+ (—o00) 00 000000000000
0. @)
0oo.

(b) tcc 0000 ODOO0O0O0ODDOOOODOOOOOOOOODODOD.

(¢) 20000000000 tco0D000O0DO0O0O0OOODODDOO.

2.1.2 OO0OOOOOO

IEEE 754 00,000 400000000000000. ¢c000 (ceR)OODO.

000000 (round upward)
cOO0O0oOO0OOoOoOOO0OOOO0ODOOO0ODOOODOOD. D00 AR—-FOODO.UO
ooooooboooo upbOODO.

000000 (round downward)
cO0OO0000D0DO0OooDbDbOobObbO0oooooD. o0 y:R—-FOOO. O
O00o0ooOOoooono bOWNOODO.

0000000 (round to nearest)

cboooboboboobooboo. 0o R—-FUOOO.ODODODOD

11



000 NEAROOO.OO,0000C000 20000000,000000000
O00000000000000000.000000000 (round to even) OO0 .

0000 (round toward 0)
ggob cOObOOOO0O0O0O0O0O0, cU000oOobDbbODbObO.0ODDObOOOO
o000 ZEROODOO.

2.1.3 000000000

oo0ooooboooo O:R—FOOO.0000,00 Ayvy,00D0O0D0O0ODO
gb.IEEE 4 00,000000000000000.

Or=2z, (D00 zeFOOODO),
r<y—Qxr<Qy, (000=z,yeROOOO). (2.10)
OO0,z FOODO, 00000000000, —-20 |z/000000O0,0000000

goooo.
IEEE 754 00, 0000000000.

O(—x)=-02z (D00xzeRODOODO),
A(—z)=—ve, (000zeROODDO)

v(-z)=—-Az, (000zeROOOO). (2.11)

IEEE 754 00,0 0000000 (FOOODODOOO0)0000000000,0000
000000000, -e{+,—,x,/},0€{A,v,0}000

rQy=0x-y), (000 =z,ye ROODODO). (2.12)

0000,0000000000000D0000 GOy 0, 0000000000 (OO0
O000)0000000 z-y0000O0ODODODOOOOOOOOO O(x-yy0OO0OOO
gobbobooooboobogd.

12



00,0000
(W), =OW=), (000zeFOOOO). (2.13)

0,00000000000000000000 (Vo)y, 0,0000000000000
000 v/ 0000000000000000000. 00000000, 0000000
gbboggbbogoboobooobbooo. bbo,doobbooobbooobboo

goboboogogoboobod.

22 0O0O0OO

gbobbbooodgbbbuoooobbbuoooobbbuoooobbobuoooobobo
gobobbooogobbuoooobobboooboboboooobboboooobboboo
goboboooobbbuooobobbboooobbbuoooobood
gbooboboboobooboobuooboobobbobooboobooboob
gbobogoobbuogobooobobooobbuooobobooobbooobboooo
gbobbooooobboooonbo

23 0O0OOO
000000000000000000000000000000000000000

gobbobooooobbbooodgboobooooboboooobobobod

23.1 0O0OO0OO00OO0O

gobobooogoobodad

2, 7] ={r e R|z <z <T} (2.14)

13



0000000000000000000z<z eROOD0O0O00OOOOOOOOO0
000000000000000

[z] = [z, 7] (2.15)
0000000000000 [¢]0000000000 [¢]=[,7]000000000z=72
00000 [¢00000000000000000000000 [¢|000000 200
000o0o0o0n
00 [x]000000000000

d(a]) =7 -z, r([2]) = , m([2]) = (2.16)

d([z]),r([z]),m(z)) 0000000 2]0000000000000
00 [x]000000000000000000000000

([2]) = min{|z| [ = € [«]}
|[2]] = max{[z| | = € [#]} = max{|z], [z]} (2.17)

20000 [2,[y)0000

q([2]) = max{lz — y|, |7 - 7[} (2.18)

goooo.

20000 [z,y]0O000000O0O0COCO0OOOOOOOOOOOOOOOOO

[z]ofy]l ={roy|xzelz],ycy} (2.19)
O000Ooe{+,—,x,/}000000000000000000000000O00000
0000000000000 00000000000000000000

2] + [yl =z +y,T+7
2] = [y] = [z — 7,7 — y]

2] x [y] = [min{zy, 7y, 2y, Ty}, max{zy, Ty, 27, Ty }]

2)/ly] = [e] x [ ] (0 [y) (2.20)



0000000000000 00O00000000OUOUUOOUoOoO (Table2.1)O

00 (Table22) 00 0000000000000 0O0O0OO00OOOOOOOOOOOOOO
gbooobooobgoo

?JZO yBO ySO

x>0 | [zy,Ty] | [Ty, 7Y [Ty, 27|

30 | [z7,7y] | [min{zy, Ty}, max{zy, T7}] | [Ty, 2y

<0 | [27,7y] | [27, zy] [y, zy]

Table 2.1: OO [z],[y] 000 [2][y]

y=>0 y<0

20| [z/y,2/y] | [T/7,2/y]
30 | [z/y,7/yl | [z/9,2/7]
v <0|[z/y,T/y] | [T/y, 2/

Table 2.2: 00 [z],[y] 000 [z]/[y]

232 0OO0OOOoOn

gbobboooobbboooobbbuooan

2] €[], W Cly]=[elolyl €[] fy], o € {+, = %/} (2.21)
gboooog

goboboogobbbuooobobobooooboo

[z] o [yl = [yl o [a], o€ {+,x}
[z] o (fy] o [2]) = ([z] o [y]) o [2], o € {+, %} (2.22)

15



O000000000000000000000000 —[z]=[-7,—z)0000

1= (1] € []/[2] (2.23)

O0000000000000000 [«)00000000000O0OOO0O
goboboboooobobooooboboooobboboooobobboooobobo

2] x ([y] + [2]) € [2] < [y] + [a] x [] (2.24)

000000000000 Y0 ;00000000 oooooood

233 U000

OO0 f:DCR—ROUO0ODOODOODOOOOOOOODODODODODO fO
gbooboob /ROODDODODOODOODOODOO

f(l2]) = {f (@) | = € [2]} (2.25)

/IROOODODOOOO0ODOODODODOOD f:DCR—-ROOODOODOOOOO
ooboobobooooogooobobooooof0/RODODOOOOODODOODOO
f(z) 0000000 DOO0O000OOO0O00ODOO0O0OCOOO0OOODOOODOOfOOODOO
oobooboooooooboobboobooooobooOobDbD foOOoOoDOobOOg fo
obogg

f(l=]) € fo ([]) (2.26)

oooooooooooboobobobobobobobOfOObOOOOObOODODOD
gobbogogbobbuoooobobboooboboboooobboboooobobooo
goboooog
gbooboobooboobobobobbobbobboooboobooboob
O0000f0000000000000O0O0O000000O000O0R|DODOOOODOO

16



0000000000000000000000000000000000000000
00000000000 x]0000000000000000000000000000
000000000000000000000 [2)]00d(z)0000000

q(f([z]), o ([])) < ad([z]) (2.27)

00000000000000000«000 (00000000000
00000000000 f([a,b8)0 f(ja,b]) Cle,d 000 [¢,d 0000000000
c,d 0000 f([e,0)) 0000000000000000000000O000
000000000000000000000000000,000000000000
0000000.000000060,2z000000000000,000000000

gobbooodgbboboad.

24 0000000

gobbbooggoobuoogobboboooobboboooobobooooboo
gobbooogbbbuooobbbooobbboooobbbuoooobboao
gboobobboobooboobooboobobbobooboobooboobo
gboboooboboobobooboboooobobboobuobbo ROODDODODO
goboogg

IR={[x] € IR | z,T € R} (2.28)
O00D0/ROODDODOO0ODODOODOOODOODODOODODODDODOODDODOOD
000000000 00000000 [a,b] e IROOO [¢,d) € IROOODOOOOOO
O IR — IRO

[z] C Ola] (2.29)
0ooooooooooooooon

Olz]=[2] (0000 [2] e IROODODO)

17



[z] C ly] = O] Oyl (ODDODO [2], [y] e IROODOO)

O(—lz]) = —0lz] (ODODOD [¢] e IRODODOD) (2.30)
IEEE 4 OO0 0000000000000 00

Ol] = [V, AT] (2.31)

goboboooobbbuoooobbbogobooboboooobo

[z]Oly] = O([z] o [y]) (2.32)

00000000000 €e{+,—,x,/}0000
gbobbooogbbboooobbbooodn

(2] + [y] = [V(z +y), AT +7)]
[2] = [yl = [V(z —7), AT — y)]

[] % [y] = [V (min{zy, 27, Ty, 77), A(max{zy, 27, Ty, TY)]

[2]/ly] = [v(min{z/y, 2/, 7/y, 7/y), Mmax{z/y, /9,7 /y, T/7)] (2.33)

0000000000000 00U00U000 (DoDoooOOo0)0Do0000UooODOooo
gboobobboobooboobooboobobbobbooboobooboobo
gbogobodbobobog,ggbogbbodgboobboobuoobboobooo
gogobobbbobbbbbdogg,bdooooooobobbbbobbboooggo
gobobooogobobuoooobobboooboboboooobbboooobboboo
gobbbuooggboboooobbbboooooboobbbuooooboboboao
gobbboooobobbouoooobo

gbbodgbbogbobobbogbbodgbbuoobbuoooboooboooboo
gobbbuooggbbobobuoooobbbbuooonobbboooobobobogo
gbooobooboon

18
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3.1 UOQ00On

0000 XOO0O0OO0O0O000000000,000000000000000D =
{ze]k=1,2,--} 00000 P{XeD}=100000,0000X00000000 PX

gobobooooboo.

3.1.1 00ooognd

ooogXo,0oe0b10,001—-00000,00000000O0

0---1—0
000000O00000,00000000000000000 By(1,6)000.

EX)=1x04+0x(1-0)=140 (3.1)

V(X)=(1—-0)x+(0—-0)7°x(1—0)=6(1-0) (3.2)

gog.
O0bo0oob0o0b0oobo0o0 1000 Ao, A00obooL,ooooogoboodg
0000000000000000000 By(1,/)000.00060=PA) 000000

goooo.

3.1.2 0000

X1, Xs, -+, X, 0000 By(1,)00000000000. X=X, +Xo+-+ X, O
00.XO0000OO0O00o0O0O.X000000

P(X =x):=,C0%(1—-0)""", x=0,1,2,---,n (3.3)

20



O000000.0002000000 By(n,)DO0OD0. XOOOODODDOOOODOOO
uo.

(n—1)!

=np (3.4)

3.2 0000

0000 XOO0O0OO0O0oO0ooooooooo X0oooooo pPXo0oooooo

Y

00000 FxO0O0O00
Fy(z) = / " f(b)dt, VreR! (3.6)

0000 R'0000000 fyx(x)0 X000 PXO0000O0OOOOO.

3.2.1 0000

godad
2 1 (x_N)Z
flz;p,0%) = N eXp )~ ,—00 < < 00 (3.7)

—00 < < oo,0 >0

21



000000000000000000,N(u,e?)0000 (031)u=002=1000
N(0,1) 0000000000.X0 N(g,o?)00000,00000 Z=%20 N(0,1)0
0o,

P(Z<L2)=P(X<Lpu+oz)
e (e~
a /—oo 2o P { 202 de
= — —Z4d )
/_oo NG e { 2 } Y (3:8)

00 Z0 N0,1)0000,X =p+0Z0 N(g,o>)000.

00 3.2.1(000000) X,|ln=1,2,---00000000000000000,E(X;) =

V(X)) =02<o0,i=1,2,---000.0000

X e X — T 1 2
lim pJ ottt Az L / e~ T dt (3.9)
n—00 \/HO‘ —oo /2T

Vo e R!

O0000000,000,,0006200000000000000n000 X1, X, -+, X,
oooo

P (f/?/g < x) nge /_; \/12_7Texp{—x22}dx (3.10)

00000.00000,0000 X000002000000,0000 N(M,f;i)DDD

00000.00068,=%,X,00000000 N(nu,ne?)000000.
000000000000000,2000 By(n,d)0n000000,0000 N(nb,nd(1—
9) 000000.00,0000

5 (3.11)

Pla< X <b i/ LI
(a2 X =b) (a—3-nb/y/n0(1-0) /27 P

0,1/2000000000.000000000A0.

(b+3-nf/\/no(1-0) 1 { xQ}d
x

22



00,0000 Nu,c>)000,0000000000.

E(X) = /_O; T exp {—(‘”2_0;‘)2} dr

2ro

/°° pw+ oz 22 y
= ex - z
—oo V21 P 2

(3.12)

=0 (3.13)

04

03

00

2

031: 000000 N0,1),y=Aexp(-%)
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3.22 I'oQd

gbooXobooooooo

flz;a,B) = Fﬁ()zé)xalem (3.14)

a>0,>0x>0

0000000, 0000000 Trooooo INe,s)0O000O (O 3.2).
rogooooooo

00 =— (3.15)

goo.

05

0 3.2: I'(2,4)00

3.3 Uooubouoboubotun

3.3.1 *00O

DDDDDF@1)DDDDDDDDD

272

flz;n) = — ( >x72L exp <_§> ,x >0 (3.16)



00000000,0000000000n000000,x*n)0000 (O3.3).00
On0 200000 00 x*(a;n)0000.

O00n0 000000000,

00 =n,00 =2n (3.17)
gdod.
033: 00010200
3.3.2 FUOU
ooooao,

—. x>0 (3.18)

00000000000000 (mp)0FOOOOO,F(m,n)0000 (0 34).

goboboogoooooboadg.

00 =— (n > 2) (3.19)

2} (m+n—2) i
00 = D (n > 4) (3.20)

25



ooo.
000 (mn)0 FOOOOO o000 Fla;m,n)0000.FOOOO

1

7F(a;m,n) (3.21)

F(1—a;n,m)=

gobobooad.

¥
00 01 02 03 04 05 06

%wmoooooooooooooom

o
n
w 4
IS
o

0 3.4: F(10,4)00

26
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L] [
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4.1 OUOO0OUooooOon

000000 (Capture-Mark-Recapture) D00, 0000, 0000000000000
oooooooooodooooooo, oo obgoooooonoooogn
dooodoooobooooooooboooo, oo oooooooooa
ooooooo,0dooooooooo. oo, 0dooooooooooooogg
gooooooo.ogooo,goobobouoonouooobooon.

oo, 000obdooboo.oogobooooooooo 400, 0000000 20
0oodoooooooooo 20,000 18000000, 000o0o0odoooogd
googd

000000000000 ,40/(404+2)=2/2+18) 00000, 0000000000
U,z=36000000.000003600000000.000000000000000
00000000000b0,0000000d 2DDDDDDD,QOCZp2(1—p)18DDDD
godo.041d0doodoooop=010000000,pp=0090000 p=0.11
goddo,0oobbobb20000doobobbbobboo.obbo oo
0od,40400 3240 0000,000000000000.

probability
000 0.05 0.10 015 020 025
L I I I I I

sample

0 41: 00020000 20000000

gbg,0obo0booboobooboobobobobbo.oboobooboob

gboogdb.bogbbonbbogobboogbbogbbooo.gbbp,00000ND

28



0,00000000000000000000X, 00000 =X/n0000,X00
0000000 N(np,np(1—p))00000000.000009%%000000,00+
0000 x1.960000000,

Pr|—-1.96 < —=

/1 / J—
Pr |y — 1.96,/P1=#) p) o+ 196 ZU =P 05 (4.2)

gob,0bboodaobboodd

lp/ . 1.96\/]),(171_]9/),19/ n 1.96\/])/(171_]9,) (4.3)

O0000000000.000,000009%%0000000.

= 0.95 (4.1)

000,000000000000000,20000000000000000000
0.0000,20000F00000000000000000000O0.

w=2n—-X+1),0,=2r0000000F000,00000097500000FO
00.v,=2(X+1),v,=2(n—X)0000000FO000,00000097500000
FPOOO.20000F000000000000000

Vg v’
lvF+v’v’F1’+v’] (4.4)
1 2 U1 2

ooo.
0o,
0,1—a7] (p =0) (4.5)
o, 1] =1 (4.6)
ooooo.
4.2 0000

oo0o,000000000ROC++000000DOO0OO0DOOODOOODO.
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g1
gboboooboboobobtdecobdb37vboobobo.obgobobgon

gooboooon

00000,137/300=10.228,000 228% 000.

200 00000000000000 %% 000000000000000000. R
statistics (Up) 0 ROOOOOO0OO0OO,R statistics (Down) D ROOOOO0OOO0OOOO,
C++(Up)DO0OO0OO0O00O0O0O0O00O0O0O0C++(Down)0 0000000000000

gobo.
gogboobobooogn

R statistics (Up) 0.2619210108577094687
R statistics (Down) 0.1947456558089571965
C++(Up) [0.2619210108577094132,0.2619210108577095242]
C++(Down) [0.1947456558089571965,0.1947456558089572521]

gbogobo,rRObDO0DOO0DOODOOOOODOO0

ROO = [0.1947456558089571965,  0.2619210108577094687] (4.7)
000000 = [0.1947456558080571965,  0.2619210108577095242) (4.8)
ooo,0000,
RODO = 0.0671753550487522722 (4.9)
000000 = 0.0671753550487523277 (4.10)
oooooo.

gbbogbobooobbooobogoblebboobbooobooboob.obo,
gboboobROOODOODOO BOOODOOoOooOoboooO,RO00DODO0ODO
gobboooooobo.

gbooggo,bpogoobosbugobug,gbboooboog. obog.2boobn
0000000000 FOOOODOOOOOODODOODOOO (O04.2). ROOOO,00
0000000 binom.test 0 0 00O O ,binom.test(137,600) 0 0000000000 FOO
gobboboooobobogd.
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0 4.2: F(928,274) 00

roobgbooboobooboRrRO0ObO0OO0bDOoO0DbDOO,bO00bO00DbOn.
Fooooooog

R statistic (Up) = 0.26404693955446934
R statistic (Down) = 0.19531920136561551
C++(Up) [0.2640469395544692289,0.2640469395544693954]

C++(Down) [0.1953192013656154802,0.1953192013656155357]

gboogobo,RrRObDO0ODODODOODOODOODOO

RODO =[0.19531920136561551,  0.26404693955446934]

000000 =[0.1953192013656154802, 0.2640469395544693954]
0ooo,0000,

ROO = 0.06872773818885383

goboobod =0.0687277381888539152

goboog.

(4.11)

(4.12)

(4.13)

(4.14)

gobbog,ggobbbooogbbboooob,ogbbobooobbbuoono

oo lebooboobooboboo.bob,bo0boob ROODODODO 15

gbgooboobobooboo,RO0b0000O00bOO0O0bOo0bOoobOooDn.
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gbo,00b0odborbobbobboobooboob,bobobos3booboon
oooobo.00ob0oborFrooboobooboboooog.

4.3 OO

gboboo,0bobooboobobboboobooboboo,rRO0bO0OD
gobbbooooobobbooooon.
goboo,bbobuooobob,bbbuoobobbbuooobobbouoooobon

gobbooodgbbboda,bbbooad.

gboooboo,bogbboobogbooee7TtbO,0o0bo0bb0onbOoOnDn
go,00b0o00b00o0b.o0bd,

enJOUOOO0O0OO,000O0O0DL0DOOODOO0ODLDODO0OLDbOObLbOO0,O

goboooboooogn

goboboogoobobod.

oooooo,
(4.15)

ooo.
00 g(p)0 g(p)=p(1—p)000,000000p=0500000.000,000
00 f(n)O f(n)=3.92x,/0.25/n000.
000,0000000x00,f(n)0y000000000 (04.344),0000000
0000 (Table 4.1).
00,0000 000000000 f(p)000000000. 00000 n = 100000

D0000.000,f(p)=3.92x/p/(1—p)/1000000 00
000, O0x00,f(p)0y000000000 (045),00000000000 (Table
4.2).
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20
0.10

10 1.5
¥
0.04 0.06 008

05
002

_

T T T T T T T T T T
0 200 400 800 800 1000 2000 4000 6000 8000 10000

00
0.00

0 4.3: 0<n< 100000 0 4.4: 1000 < n < 10000 0 O

000000 | 00000 f(n)

1000 0.0619
10000 0.0196
100000 0.00619

Table 4.1: p =050000000000

¥
0000 0001 0002 0003 0004 0005 0008

045 0<p <100000000000O0
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0000y |00000 f()

0.01 0.00124
0.001 0.000392
0.0001 0.000124

Table 4.2: n=1000000 000000000

O0000000,000000 100000000001%0000000000000,0
gobbobooooobobooooon.

O00,00000000020000 FODODOOOOO,n = 100000,p" =0.000100
goooboboRObOobOOOoboOooOobDg,

ROO =[0.0000479548,  0.0001838958] (4.16)

000000 = [0.0000479548,  0.0001838958] (4.17)

gboobg,0oboobgooboo.boo,gooboobobboboobooboob.
gbdUdnddbbgobo,ggbbogbogobuogbbooboooboobn

g, gggbbouooobbobuoooobbbuoooboog.

g

Y

oy =1.96\/p(1—p)/n00,00000000=0000.000,0000000
0000000,00000000000

gboobogooboo.

P =196,/p(1—p)/n00,0000p =384/(n+3.84)00,00000

3.84 —1.96v3.84 3.84 +1.96v/3.84
n+ 3.84 ’ n + 3.84

(4.18)

gboo,00bobobooobooobobo.oboobo,boboooobobobobo

gobobo.gog,ggboboga.
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000000 FOOOODODOOO0ROODOOOOO,n=10000,X =400, [1.08996%¢-
04,1.0238393e-03].n = 100000, X = 4 0 O ,[1.089876e-05,1.024127e-04| D D O O O O.

ooo,

e JUU =1,00,000 =0000b0O0,0000000000OL0DOO,00000
gboooog

gobboooogd.
gobooooobo,booobobbgooobobouo20b0b0orooobobooO. FO
gooooboDbo9mUubb FOOOOOOOD 1000 =00, 02000 =2000
F=39498, 01000 =2,02000 =co000 F=3630000000.000,(44)
gbo,ggbbobugoobobooooobbbouoonon.
O0000000,00009%%0000000000,000000000000000
goobogo.
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5.1 UQOOOOOOO

gboogobogbbodgbbooboob,bbogboooboobbogbogn
goggggoooo,poouooououa.oobbobbbbbbbbbbbbbb,dn
gbbodbooo,obooboboobbuoobbodbboobboooobbobo
000000000 CO0O0O0, 0000000 oooooooooooon 5%0
gob,0bbbouoodobbboooobb,bbboooobbboad.

oooooobobooobogoo,boboboobobooooog o, 0b00bOo E;00

O000x’00,000rn-10000000000000000O0.

X2::ZT (5.1)
000, 0000r-1000000009%%0000000000,00000000
000000,000000000.000000000000000000000000
005%000000,00005%0000000000000.00000,00000

gooooooooooooooon. oog,
X2(0.05;n — 1) < 2 (5.2)

gbo,gbobbodd.
gpoooo,00b0o koobg

[ (@) e (e o

gobbooooad.
0000 1(k=1)000,00000

flz;1) = \/12_7Txé exp (_§> (5.4)
goooo,goggd
1- /X2 L35_5 exp (—) dx (5.5)
0 V2r

goo.
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5.2 UQ0OOO

ooo,000000000ROC++000000O0O0OO0DOOODOOODO.
g 2 ~
O000000oooOooo9oUn, 0004800000 000000O, (1H)oo

000000000000 000000,(2)00 106000000 10000000

gobbbooog,gogoboboood )

ROO,0000000000200000000000 pchisq0000,000000
00000000.000,X0 20 k00000000,1-pehisg(X,k) 00000000,
0000000 (1)(2)0000,000R0OC++0000000000000000
O00O00. ROODODOOOROOOOO x*0,Rresult0 ROOOOODODOOO, C++

000000000000000000 ¥*0,C++result 00000000000 0O0O0

oooooo.
0o (1

~00 Q) 2
ROODOOD = 4.0
R result = 0.045500263896358528
C+ Oooog = [4,4]
C++ result = [0.04550026389630357216,0.04550026389635974944] )
0o (2

~00 @) B
ROOOOO = 1.26943396226415110
R result = 0.25987289504626154
C++ OOO0O0O = [1.269433962264142402,1.269433962264155725]
C++ result = [0.2598728950462008136,0.2598728950462696475] )

O000000,00 (1)0000,00000000000000ODOO0000000 14
gbobdobobobo,RObO0ODODODODOO BOOOOOOOOOOD.ODO
O0o00500000000,00()O00O0O0OO.

000,00 (2)0000,00000000y00000000000000000 14
gbooooboboobob,ROb00O0O000O BOOOOO0OOLOOOOD.ODO0O00 0.05
O0000000,00 (@)ooooog.
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000,000000*0000000000,ROOO0O0O0O0OOOOOOOOOOO

gbooobogooboo.

5.3 U

goboboo,b0b1bbobouggoobo,g200bbbobbodooooboooo
gg. gbbbob,020000000000000,000 100000000000
g, goboogd. bbogoboboobobooobbooobbooobboooboboo
gbboggb.boobbbooobbuooobbuooobooo,gbobooobboo
gbobboooobb,01gbbbuoooobbo,bboooobbbuoogbbban
gobogooboo.gbo,gbboobobooooboo,gob,boooboobboooboa,
goooo.

000,0000y*000000000000000,

e JODODOO[0.04---,0.05---]0000,000000000050000,000000
gobbobooooobbbooooboobobooodon

gboogoobgo.

0000 1000,00000000 %200
[3.8414588206923,  3.8414588206942] (5.6)

O000000,00*00000019%-12000000000.
0000 10000000,.0500000000000000000 x*0000000
go.oboo,bboggobbobooogoboboooan.
0000x*000000000000000000000,000000000000

gbgoobgoboo.
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6.1 U0OOOO
000000000,y0 z,,...,2,000
y=FEy)+e=n+e=f(z1,...,2,) +¢ (6.1)
gooooooooog.
n= 00+ bix1+ -+ By (6.2)

0000000,000000000000000.00«0000000,00 0,00 o2
gbogoobgoo.

0000000 (Za1, Tas, - .-, %ep) 0000 3, 0000000
QOL:éo—i_/élxal+”'+6Aixai+"'+/épxap (63)

goooo.

gb,gbobboogaobn

Yo = By + B1(@ar — T1) + -+ - 4 Bp(2ap — Tp) + €4 (=1,---,n) (6.4)
0o00.6,0
By =Bo+ B+ + BpTy (6.5)
0oooooo.

O0000000y, 000000 X, 000000, 000D0ODODpOODO,O0
ERN

y=XpB+e (6.6)

ooo,
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E(y) =Xp
V(y) =%l
0o0o.
000y, 000
€a = Yo _ga
O0000D0.00000
S, = Zecf
:Z<ya_ﬁo_ﬁlxal_"'_Bixai_"'_ﬁpxap>2
000000000,6,06,,...,6,0000.
oooS.03B000000.
aS, " R R .
3»30 a
O00000O0.n0000
BOZQ_BIfl_"'_Bpfp

goooo.

gbobboooobbbuoooobb,bbbudded

ooobo.0ooog s

(6.7)

(6.9)

(6.10)

(6.11)

(6.12)

(6.13)



oooooo,

ds,
~ — 0
B
—2X'(y—XB)=o
X'XB3=X'y
B=(X'X)'X'y (6.14)
0oo.
00,5,0000 0,20 B, 0
1 31
T | 3
z=| |.B=|" (6.15)
L jp - L Bp -
oDooo,
30 = A(/)— 3Ty — - —Bpfp
— - %6 (6.16)
0oo.

gbbogoboodbbuooboodobbaanbboobbboodbyboogd o0

Sy = \/Syy/(n—1) (6.17)
si =/Si/(n—1) (t=1,...,p)

gooob,0bogaobo

goboo

y =
X (6.18)

gboogoobogooboo.
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Oy 0O xﬁ,...,xéDDDDDDDDDD

~

A~/ 5/ 57 /
=0 +62y+ -+ G, (6.19)

oooo,3 (=0,---,p)000000000000000000.4 =4/ =0 (i =

1,---,p)00,00 f =0000.

gboboboooobobbuoooboboboooobn,

B =5 ?? (i=1,...,p) (6.20)
0ooooooo.ogo,
Sxx - Z (xa - f)2
Syy =X (ya - g)Q
Say =2 (Ta — Z)(Ya — §) (6.21)
Sij = 2a (Tai xz)(xaj - f]) (i, =1, ,D)
Siy = X (Tai — i) (Yo — ¥) (i=1,....,p)

goo.

00,20 2;(,j=1,...,p),0000x(Gi=1,...,p) 0 y0OOOOO

Tz]:\/?]—s (Z7]:177p)

e (6.22)
Ty =~ (1=1 P)

iy 55y, PRI

000000,00000000004,4,...,4,0000000000.000,000
oooooo.

6.2 UQ0OOOO

gboboggbog,gbbuogbbodbbobuogbboobooob.boo,obo

gobbbuoogobboobogd.
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6.2.1 U0O0OOO
00004000000 Sq(=8S,)0,00000S8,00000 S,0000,
St = Sg+ Se (6.23)
0D000.000 Sg0O,
p ~ A A
Sk = Zﬁz‘siy = 1Sy + -+ BpSpy (6.24)

ooo.
y,0000§,000000000000000000000000. yO¢00000
S0 Sp000D0DD.

00000,00000RDO

R— >R :,/éﬁ,: o2 (6.25)
SyySRr St St

O00.RRO0D0O0OOO0O0OD,0000010000000000000.

ooooooboboboo RO,

Se/(n—p—1)
R=,]1- 6.26
ogoo.oog,gooooon.
*2 2 p 2
= - (1 - 2
R =R (1= ) (6.27)
6.2.2 0UO0OOUO
o0 o0OOogogno
5= PN (628)
o= n_pee )

goo.



6.3 ULy

gbboggbbogoo,bbuogobboobbooobboodobboo.obo
gboboboboboboboboboooooboboboXoooo,obobboo
gboobooboboobooobooboo.oo Xo,

1 T2 - Tip Tiy
21 1 e Top Ty
X = (6.29)
| Tl Tp2 1 rpy |

gooo.

00,1,1)000000000000,000 (p,p)00000000000O00O000
0.0000000000 8,8,...,4,0000.

10 -~ 0 3
01 --- B

X = ? (6.30)
00 --- 1 31/7

gobo,0bboggobbboooobboooob,gopoboboaa.

6.4 U0OOO

ROOOOO, 0000000 mbog,boboboboboooo.boo,bg
summary OO OO00ODO0O000,00000000000000000000O00O0000¢0O.

O0o2000000000ROC++000000DOOODOOOODOO,0D0O0O
gboo.booobooboob 20bbobboe43b00D0O0O.
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6.4.1 20000

00,000 1(Table6.1)000000000000.000010000,0000 20
ooooo,bo00b000bo00b0o0bo.ROC+H+OO0O0DODOODOOOOODODO,O

goboboooobobod.
ROO ~

ERERN = -82.75193096972550677
g10g = 0.3461760603811828707
o200 = 0.9584087708018101948
goog = 0.728972808000567074
gogoo = 3.742814385798410637
J
goooon ~
ERERN = [-82.75193096974162188,-82.75193096970940588]
0100 = [0.3461760603811178117,0.3461760603812485404]
0200 = [0.9584087708017544616,0.9584087708018651509]
o000 = [0.7289728080005025702,0.7289728080006315781]
o000 = [3.742814385769855257,3.742814385826960244] )

gobooo,gbbo,bigo,g200,000b00,0b000b0b000b0b0o0obon
gobb Bsogdobbboooogboob2bobogooobooog.og,bodo

gioooodgooboo.
goo,bo0f01goobogbobooboobobooobo,oboooobobooobogooRr

gobboooobbbooooboboooobobod.

6.4.2 100000

00,000 2(Table 6.2)000000000000.0000000000000O00OO
O100b1oboooobo,oboboo ToPIXDOOoOoooo.RO C++0O000O0ODO

gobbbooooobbobooooon.
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/‘RDD ~

god =01.35466974978476174
0100 =0.4404082158305101524
U200 =0.3203327332297490338
0300 =0.005852338432796612248
0400 =0.1182360619203007557
Us00 =0.2001831759784096498
el =0.2764294531974435532
U700 =0.2446665284817033104
U8l =-0.045854467439678262
o000 =0.06195105911416100286
01000 =0.1411876191520624324
goddnd =0.9827938522381355346
000 =3.26912598142985722
N J
s goooon N
god =[91.35466846876897762,91.35467103080668494]
0100 =[0.4404082149597670082,0.4404082167012435823]
0200 =[0.3203327330925113126,0.3203327333669850341]
0300 =[0.005852338384030813558,0.00585233848156242395]
0400 =[0.1182360617049353913,0.1182360621356628866]
0500 =[0.2001831755363172039,0.2001831764204875242]
0600 =[0.2764294531297597502,0.2764294532651274672]
O 700 =[0.2446665284640607286,0.2446665284993468359]
0800 =[-0.04585446748280332802,-0.04585446739654526483]
0900 =[0.06195105903550109789,0.06195105919284085716]
01000 =[0.1411876191317758267,0.1411876191723443752]
0000 =[0.982793851460310064,0.982793853015959118]
0000 =[3.269123096472783541,3.26912886638835154]

J

~

gbobodgb,bboogobuoooboobbooboboouobb,bodbbodobb
ggbugu.buogobodgeb,bbodbboogb,buogbboobebggbO
gb.bugl1bbugbbooogbogobooobbuooo,ogoboboooboboo
gbobobooaobn.

gbbogobuogbbodgbboobuoobobuoobooobooboobo,uobon
gogooboo. bbooboboboooa,bbobbbbouogoooooob. o0,000o
gbobo,obooobooboobobo.bgob,boboobo,oboboobobo
gobooog.

gbogobo,ggbbogbuogbuooboobbuoobbo.ebboobbuabn
goooobo,obooboobobooooboboooobob.obDbo,RObODbO

gobboogoobbobuoooobbobooon.
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6.4.3 0U0OO

6410 6420 0000000000000000,000 Table6.1,6.2000000.

e U 1020000,00,00000000000.

e J0D 20200000 10000 TOPIXODOODOO.

00 g g g g g
171.000000 | 83.000000 | 62.000000 || 172.000000 | 90.000000 || 63.000000
180.000000 | 98.000000 | 71.000000 || 175.000000 | 85.000000 | 62.000000
169.000000 | 83.000000 | 53.000000 || 163.000000 | 93.000000 | 65.000000
173.000000 | 100.000000 || 78.000000 || 163.000000 | 85.000000 || 53.000000
173.000000 | 90.000000 | 59.000000 || 162.000000 | 85.000000 | 52.000000
163.000000 | 82.000000 | 54.000000 || 167.000000 | 88.000000 || 60.000000
168.000000 | 92.000000 | 62.000000 || 170.000000 | 93.000000 || 67.000000
176.000000 | 90.000000 | 60.000000 || 173.000000 | 94.000000 || 70.000000
173.000000 | 89.000000 | 62.000000 || 170.000000 | 92.000000 || 67.000000
174.000000 | 88.000000 | 60.000000 || 170.000000 | 87.000000 || 56.000000
164.000000 | 84.000000 | 50.000000 || 175.000000 | 100.000000 || 68.000000
171.000000 | 87.000000 | 66.000000 || 170.000000 | 85.000000 | 56.000000
172.000000 | 90.000000 | 69.000000

Table 6.1: O OO 1
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o0 (00 OO0 (OO (OO0 |0OD |00 |00 |00 (o0 | TOPIX
693 | 530 | 1100 | 699 | 352 | 950 | 692 | 1310 | 698 | 3470 || 1631.71
704 | 539 | 1090 | 714 | 354 | 957 | 687 | 1320 | 706 | 3490 || 1645.48
693 | 518 | 1080 | 699 | 346 | 944 | 685 | 1290 | 699 | 3430 || 1615.94
691 | 520 | 1140 | 685 | 338 | 927 | 675 | 1270 | 696 | 3400 || 1602.33
695 | 550 | 1200 | 700 | 344 | 925 | 680 | 1250 | 700 | 3420 || 1622.29
679 | 550 | 1160 | 695 | 335 | 926 | 671 | 1190 | 703 | 3350 || 1608.10
678 | 599 | 1130 | 697 | 342 | 925 | 665 | 1220 | 703 | 3370 || 1616.32
666 | 600 | 1130 | 695 | 344 | 920 | 660 | 1200 | 698 | 3330 || 1605.49
668 | 595 | 1130 | 699 | 345 | 927 | 666 | 1210 | 691 | 3330 || 1616.51
678 | 600 | 1170 | 691 | 345 | 930 | 670 | 1220 | 698 | 3340 || 1619.90
687 | 610 | 1190 | 697 | 347 | 950 | 676 | 1230 | 705 | 3350 || 1639.87
681 | 609 | 1160 | 700 | 354 | 954 | 708 | 1240 | 709 | 3350 || 1642.94
679 | 610 | 1120 | 714 | 350 | 957 | 725 | 1220 | 706 | 3370 || 1653.27
667 | 605 | 1210 | 715 | 360 | 970 | 720 | 1220 | 709 | 3370 || 1648.53
663 | 596 | 1280 | 724 | 354 | 972 | 717 | 1210 | 707 | 3370 || 1647.24
662 | 597 | 1250 | 725 | 350 | 969 | 700 | 1210 | 696 | 3290 || 1628.01
662 | 588 | 1200 | 727 | 342 | 950 | 683 | 1210 | 687 | 3260 | 1614.42
659 | 600 | 1250 | 730 | 342 | 952 | 700 | 1200 | 680 | 3240 || 1614.91
660 | 591 | 1290 | 740 | 339 | 958 | 699 | 1180 | 680 | 3210 || 1610.35
667 | 594 | 1270 | 711 | 336 | 966 | 685 | 1180 | 675 | 3240 || 1612.84
665 | 589 | 1270 | 695 | 332 | 950 | 685 | 1160 | 665 | 3200 || 1596.51
655 | 580 | 1340 | 675 | 330 | 935 | 693 | 1170 | 660 | 3200 || 1588.22

Table 6.2: OO0 2
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6.5 UL

gbbogo,0boggbooodgbb,buogobbo20bbodgb 120000000
gbo,jobbugbbsubbuoobbuoobbuoooo,gobo,boobobooobon
go,0boboogbobogobbooobooob.boobobboobboooboboo
gobbobooogoobo,obbooogboboboooobbboooobobooboag.

ROODOO,0000000O0O0O0O0O0O0D0O0DOODODODL,0b00Db0Db0ObLOOO
gbboggbbuogobbooob.buoggbbuoooboboobobooob,bboo
goboooogo.

ooo,
e 0000000 C0ODOC0O,00000000000000

gobbooogbobobod.

gbobod Bgobooodbbogboboooboboob,bboobb e, n
gbooedobob,bo0bb40000000DO0O. RODDOO,0D0DbO0ODLDO
gbogbrogbooooo. oo, bbb 1Bogboobob,rRO0O0ODO0ODOO
gobobooogbobbuooooboboooooboobod.

gob,0bouot0 1 Boooogboobdbobobobogb,RO0O0O00000OODO
gbogobgoobob,bo0boobuoobgobg.
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7.1 OO0

g2000d,0dbbgdboogbbodgbbodobboo,gbbodgb,bbodobb
gbobboooobobod.

g3gob,ggbobbodgoobbo,gbbbbooooobbobooooooboobon
goboooood.

4000, 00000000000000O00O00DOO0ODO. 000OODOOOOOOOODO
gogoobbbbooobbboooooooboobo,obobbbbobbbbboooggoo
gobbboooobbbuoooobbboooobbbuoooob.

gsgob,gobobuooboboobob.oboobobobobooboboob
gbogobuodgbbodboobogb,gbboobbodoboobobuoobbouoboo
gobbooogbbbuoooobbobooaod.

gebDbO,b00obbuogdbbbodo. bbbooobbooobbooonooon
gboboooobobobobo,0obob Bsooboboooobobo,ROODbDO

gobbbooodobobbooodobbbooad.

7.2 OOOO0OO0OO0OOOOO

0000, 0000b0bo00bbbooobbbooobbooobooboob,bbuon
gbbogboodgbodgbobooboa,ggboooboobbuoobbuodobbooboo
gboo.obbg,bgob,boobboobboobboobboobboobobo
gobboogogbb.boooobobobuooobobboooobob,booobbobao
gobboooobbbuooobooboobo.

goboo,ROOD0OO0O0O0ODOODOODODODODOODOODOODOODbOO.ODOOO,
gbobobooooboooobbo,buoggbobbuog,boogbbbuoogbbboo
gobbboooobobbouoooob.

gooboooobboboooon,
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e HUUUOODDLDOUOUODLDLDDUOLOOODLDOUOOOO,00DLDbOOO0OLDbODOOn
g

e UL bOOOODLDLDDOUOOODLODLDOOO,D00LDLbOOO0ODLDbDDbOODn
gooo

goboboooooobo.
gogdggoog,bpobooobobobobobboboboboboooooooooooooon

gooodbboboooob,oooobbbooobbboooobbbaod.
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L1 [

0000000000000000000000000000000000000. O
0,00000000000,0000000000000000,00000000000
000000 00000000O0000oo.
00000000000000000000000000000, 000000000
0,00 000,00 000,00 0000000000000.
000000000,0000000000000000,0000000001000
000,00000000020,00 000,00 000,0000000000001
0,00 000,00 00,00 000,00 000,00 00,00 000,00 000
0oO00oo0O0oooo.
00000000000000000000000000000000000,0000
040,00 000,00 000,00 000,00 000,00 00,00 000,00

go,0bood,bd ob,0b oggobobbbouoobbboooobobboon.
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